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(a) What is the size of the array needed to store international phone numbers with up to 15 digits
using direct addressing

1015

(b) What is the average running time of Rabin-Karp’s algorithm for text T and pattern P if there
are no occurrences of the pattern in the text?

O(|P| +|T)
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(a) Find in Binary Search Tree: (’)worst( n ) Oamortized ( n )
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(b) Find in an AVL Tree:  Oyorst( logn ) Oamortized logn )
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F(Tree 1)
while r.left # NULL do
(a) r < r.left
end
print(r.data)

Finding the minimum element in a binary search tree.

F(Tree r)
while r.right # NULL do
(b) r < r.right
end
print(r.data)
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Find the maximum element in a binary search tree.

F(Tree r, int k)

if » == null or r.key == k then
return r

end
(c) if r.key < k then
return F(r.right,k)
else
return F(r.left k)
end

Finding an element in a binary search tree.



